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Let sum; be the maximum sum of the numbers x1, zo, ..., x; given the adjacency constraint.
sum; =0

sum; = maz (0, 1)
sum; = max(sum;_o + x;, Sum;_1)
This last step works because either we include z;, in which case we also want to include the best solution
on up to ¢ — 2, or we don’t include x;, in which case we can just use the best solution on 7 — 1.
Our final answer is then just sum,,.

To calculate the set that gives the max sum, we could simply keep pointers back from ¢ to either ¢ — 1
or i — 2 depending on which one was bigger (or we could go back and check which was bigger). We
follow those pointers, including appropriate numbers.
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-1 - 1A |T]|C
-1 0 1 213
T]| 1 21415
c| 2|13 |57
Al 3|5 |68
G| 4|6 |79




A28 Jgl Yl — a0l pleasle Gw,s — Ol s 9 P’l’; JEiols

g 25 S Dyl 4 425 by 50,5 5l Ee, i L, SIS sl oS Glalew s 5 V] Y

adj(s) = [a, c, d], o o o

adj(a) =[],
adj(c) = [e, b],
adj(b) = [d],
adj(d) = [c],
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(a) Breadth First Search
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(b) Depth First Search
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(a) In Order
1234567

(b) Pre Order 6\
4213576
(¢) Post Order
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